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= R-223 (H/E)
; High School, Examination - 2017
= xo
o MATHEMATICS
(Hindi & English Versions)
Time : 3 Hours ) [ Maximum Marks 1o
M=

B w0 v o ¥ )

(i) W ®W® 1 ¥ 5 % qTGgHS WR & 9\ ¥ |

(i) 997 BHi® 6 ¥ 26 N wmie fww A @ ¥

(iv) W& JEws § @Ww w6 Amitkd fe s o
Instructions :

(1) All questions are compulsory.

(i) Question Numbers 1 to § are objective type questions

(iii) Internal options are given in question numbers & to 26

(iv) Draw neat and clean labelled diagram wherever required

55223 | 1 mmm' | REO.
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| w@ fawe grex o v ghaer § fafeg 1%5=5
/ Choose the correct option and write it in your answer book : @

a
(i) =« ;;I-ibﬁ @ gftwter fem ax+by+c =0 quT ayx+byy+cy=0
2 %

(@ & T & &N

(b) & FF T T W
(c) ¥ <@ 3 & 8
(d) @ sfeda @ B

a
When a_l‘ * ;i then the system of equations alx+b1y +ep = 0 and
- 2 '
az.\' + h2y+ CZ =0

(a) Has two solutions
(b) Has no solution
(c) Has infinitely many solutions

(d) Has unique solution
(i) ®hHOr 2x+3y=6 ¥, TR y=0 & @ x & 7 fafag
v (@) 3 ) -3

© 0 @ %

In equation 2x+3y=6, if y=0 then write the value of x.

(@ 3 (b) -3
© 0 @ 3

55223 | 2 [WIIIREIWAN | ero.
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(iii) o @i w fafafwes &

@ -»% . dac M p o Aae

5

() -b"-dac (d)  p? 4 dae

The discriminant of the quadratic equation is

@ 4%+ 4ac ) »? aa
(€) -b%-4ac (d)  »?4 dac
(iv) wh ga B ¥
(a) watmew (b) @A
(c) wwEy d) Irdw @
All circles are :
(a) Congruent (b) Equal
_Ac) Similar (d) Al of these

(v) 39 % 9N, 99 FT X W @ B0 an N B ¥ wew ¥

B L
(a 9N = ';.'.T_ (®) Broar - H
v

(c) v = B + B (d)m-ﬁ

Relation between arc of circle, angle subtended at the centre by arc and

radius is

radius —_— an!!e
(a) Arc e (b) Radius o=
(c) Arc = radius + angle 4d) Angle = T

3 RN | rro.
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2 ﬁ'ﬂ'ﬁﬂmﬁw

Write true / false int

(i)

(ii)

he following -
a3 +xlr R

Algebraic expression xzﬂ’«/; is a polynomlal.

fe TUHT AWAE BT € |

Education cess is an indirect tax.

(iii)ﬂmaﬁﬁ%ﬁ@wmu‘m%wﬁmil

Sum of the opposite angles of a cyclic quadrilateral is 360°.

(iv) oW F wdr At Rt e B ¥

All four diagonals of a cuboid are equal
7,8, 9 &1 THIY WA 9 ¥ |

The arithmetic mean of 7, 8, 9 is 9.

3 fw e @ g i @ xses

Fill in the blanks :

®

(i1)

55223 |

mwax+bmgm T

Zero of a linear polynomial ax+5 is

e, &

%sﬁﬁﬁﬁr@rﬁwa@%wwmmwaﬁnﬁé
RL i

Amount paid in instalments is always

——— than the i
cash down payment. cash price or

4 ERITMIRN | ex.o.
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(i) B B @ wftawnd o ¥

Three medians of a triangle are .

(v) Prdt 7w % wm iy & o TR G wed Yo el ¥

The two tangents drawn from an external point to a circle are
(v) P omiwa wem @ g _ ® ¥

The probability of impossible event IS ——-

4 T & B 9 | A ¥ waq Ry 1%x5=5

Write the answer in one word/sentence of each :

(i) 9:25 @ g FT AWM ? @

What will be the duplicate ratio of 9:25 ?
(i) wEEtys & & grear fafeg |

Write the definition of professional tax.
(iii) qﬁﬁag_m%@rmﬁ% ?

Define the segment of a circle.
(iv) 3fe t@r fd ®ed € 7

Define sight line.
v s dw w w7 e g ey

Write the formula of whole surface of hollow cylinder.

° [TRTAIW ¢ 0.
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£ 9 Ry

W

)

()
(v

)

Aatch the correct column

Q)

)

()
(v)
)

<8223 |

WY W
lanl%° G)

\

[

s

tan20°
andxoosecH

an@

Column ‘A’
m(%‘a’ -e)

sec

tan 90°
sin@xcosecH

sin®

(a)

(b)

(©)
)
(©)

(f

(®)

(@)

®)

(©)
@
Q)

()

®

W v

NE)

—_—

cotO

l—oos29

)%

I x8=%

IR IRER | pro.

Scanned by CamScanner



6 ST - &I - o gwewal % ofreefre ot fdtg 2

Write the characteristic property of side - angle - side similarity

T/ OR
By & wwewm & g W-ww @ i ¥ 7 N\
. g |
What are the conditions for the similarity of the triangle ? \’ /

7% Byl W oyl awr wo ¥ W Peerer ¥ 0 e B AABC, APOR 2
% gaey ¥ @ T ¢
AB=4 {ENE, AC=5 ¥dqex, L A4-60°, PO -6 WIN, PR=75
WM, A= 60 ( N\

rs /', ]
¥R, L P=60°, (/

In two triangles, the measure of sides and angles are as follows Show that
AABC, APQR are similar or not ?

AB =4 centimeter, AC =35 centimeter, ~ A4=60", PQ =6 centimeter, PR=75
centimeter, /P =60°.

T/ OR
FTUTE AU W (A ) & Rem s fefeg o

Write the statement of converse of fundamental proportionality theorem
(Thales Theorem).

8 wifg #fme B a8 A, 15 ¥ ol 17 ¥dndey wwem R @ 2
yord & 7

Check whether 8 centimeter, 15 centimeter and 17 centimeter are the sides of

right angled triangle ?
« on )

yey ud gueva & o od ¥ 7
What is the meaning of similar and similarity ?

’ |INUVRIRRAR @ o,

55223 )

Scanned by CamScanner



9

10

10 Wey wiglee W @ R iz UvRel A R A o Peiiaa 80
47, S3. 49, 60, 39, 42, 83, 82 83 W g\

ol ofe® | WA TR SR | (

The speeds of 10 Motor cychsts ate tecorded i hdowmeter per houwi s following
47, 53, 49, 60, 39, 42, 83, 82, 83 88

Find the mean from above data

W/ OR
Tipa HfEst ¥ g A e R B QA Rl s A Refd

Write the names of two methods used to determine the mean of wiouped data

:

uﬁmmﬂﬁﬁﬂmmﬂ:ﬁm)o.ateﬂw\mﬁaaﬁﬁuﬂh‘m1
AR |

If the probability of raining tomorrow is 0.4 then what will be the probability of
not raining tomorrow.

()
L4

q/ OR
s U@ H BWA T 4 A W oiw oM A wiewa wma Mg

Find the probability of getting a number groater than 4 in a single throw of a die

S Wi Bow o gu & A 3 AANeT W gl wr Raw ol 3
e dforg ('\'é

Find the longth of a chord which is a a distance of 3 centimeter ftom the centre
of circle of radius S centimeter

W/ OR
fira @ s odga o e Wy g B b

Prove that the angle in the semicircle is right angle

4822) | 8 RN |« pro.
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12 ﬁwm#f‘lhyﬁmmﬁﬁrm 3

Find the value of x and y in the given figure.

@ /| OR

ﬁam%ﬂﬁ%qﬂ%ﬁﬁ?ﬂmﬂﬁtmmﬁaﬁﬂﬁmﬁﬂ
ﬂmwﬁﬁﬁﬂﬁam%u

provethmthepapmdimlarﬁomthecmreofacircletoachordbisectsthechord.

9 RN | rro.
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13 MWMQMWtf&mﬁﬁaﬁwﬂm%m%m 3
| T g
e frafidi i Fem
o-10 12
10-20 18
20-30 27
30-40 20
40-50 17
S0-00 06

Compute the mean of the marks obtained in the examination by the students of
any class from the following grouped data :

Marks Obtained Number of Students
0-10 12
10-20 18
20-30 27
30-40 20
40-50 17
50-60 06
a /| OR
uﬁ@ﬁmﬂﬁmmwﬁmwﬁa}mwﬁsswaﬁaﬁ
Tiiem s g

Find the probability that a leap year, selected randomly, will contair § ursdays.

- 10 NN | »ro.
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4 Proafaftan svisren soq @ <ot g A 3

""""“"" 0 201020 a0 NO 100
!Tfmt'n 7 ﬁl R ET l‘i '

Find the mode of the following Hequency table
‘!Iaiiml{itéii}éi 0 21}' 20 40 A0 nu nn uu rm lnu
ltyﬂpenw m R "|”7 2%

T/ OR

Prate @ guwts & B dw gudn ffa) yd Z

Wnite any three usen of cost of living index number.

nt) mr
l‘l

40 ov
20

15 wivenm Rfe gro Peafsfes eleor fem ) 5@ @i 4
Ix+2y =14
~x+d4y =7

Solve the following system of equation by substitution method :

Ix+2y =14 ' L‘
-x+4y =7

T/ OR

Mﬁﬂumknﬂsmmmwﬂréswﬁw%mm

tuuﬁmawﬁﬁ4mw&ﬁ%mﬁmhmmma§ﬁm

!
' H 9 1 § \ ol s .
By adding 5 to the denominator and substracting S from its numerator 5 is obtained.

I
" If 4 is subtracted from its numerator then 3 is obtained. Find that number.

11
$5223 | [T 1 e-r.o.
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Solve for x and y the system of equations :

x+ay=5b
ax - by =c

7 / OR

B POR ® £P=x°, £Q=3x" &R «R=)° ¥1aR 3y-5x=30, a Py
_POR % Yd® BN TN BT

In triangle POR, £P=x°, ZQ=3x" and Z/R=y° If 3y—>5x=30, then find the

value of each angle of triangle POR.

4 ab
17 aft x—aa

& @ R AR %x+2a x+2b _» "
x—2a x-2b

4 ab
If x= then prove that x+2£_1 - x+2b=2 L\
a+b x—2a x-2b

7 /| OR

uﬁ 2 =—-—-b—:
Y+z  z+x x+y
alb-c) _b(c-a) c(a-b)

y2—22 zz_xz x2__y2

d frg #itg fe

a b ¢
e ey

If
Yz zex x4y then prove that

a(b-c) b(c—a) C(a-—b)

2_2 3 3=

55223 |
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g W a M P ot wET ot chac-0 B qm R R N mww
R

X

wa & ) O

If « and B arethcmotsofqmdnﬁceq‘mimm-:w‘-\-c-\\mm&mithc
2 2

vahleofg-—ﬂ*B—
B «

%wwwmgmhmim%mﬁaﬁ{h% 4
g@tﬂmtmmwmm‘thmﬁh&w

A building is surmounted by a flag, from a point on the ground 20 meter away "u\
from the foot of a building, the angle of elevation of the top of building and flag L,,
are 45° and 60°. Find the height of the building and the length of the tlag

w /| OR

sowﬁmt&m%mw#ﬁﬁmmtmﬂw
A 30°m\t45°t|ﬁr=rr<$t$a!§mﬁﬁm

er high hill, the angle of depression of the top and the
and 45° Find the height of the tower

13 AN | rro

From the top of 50 met
bottom of a tower ar¢ 30°¢
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e

20

21

22

mmmmmmmwm 4

Pretaiad | .

v ol fgnﬁmr: 1200 @ 21 ﬁé""z‘”‘“ N

- { arc and area of’ sectors, '|t the angles subtended a 'fb re

Find the ""'%"h o 1200 and 21 ©m respectively. @L' @

and the radu are 1= w § Gl
a;m,ﬂwmmﬂrzﬁmmltmf&mmm

ot ot g A AR

617 AW ¥ at W W

] s ight of a cylinder
The radius and height © yunot '
ovlinder is 1617 cm’, then find its whole surface area.

are in the ratio of 2 : 3. If the volume of the

&7 Aw N Prd wrw sEn 2 IR, 12§99 ot 16 ddndex R, 4
Rewmet U@ a9 e & T ¥ 39 TR ¥ 3 MW &1 ey q

T BT
Three solid spheres having the diameters 2 centimeter. 12 centimeter and

16 centimeter respectively, are melted to form a sphere. Find the radius of the sphere.
T / OR

wo@%m%a}%%rﬁﬁaﬁﬁaﬁmmmﬁmwtl
uﬁm%&%mmo.:ﬁmt.a}ma&mmml

Af’ iron sphere of diameter 6 centimeter is melted and drawn into a cylindrical
wire. If the diameter of wire is 0.2 centimeter, then find the length of wire.

T 1o B[R f(.r):.r3+l3.r3+32,\‘+20 ¥ ok s YI& -2 ¢ @ 9w ™ ‘B 5
SR o

Find all other zeroes of polynomial f(x) = 41322 + 320+ 20, if one of it

Is -2

q / OR
TFGEE B -

2 . 2
a (h+(.) + b (C+a)+£'2(d+b)+2(lbl'

Factorise -

az(b -i-C) + bz(c‘+(i)+(‘2‘a+b)+2uh‘

55223
l 8 IR | exo.
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A

g3 1002 -11y-6=0 W gx faf @ wer whw

Solve by using tormula 10‘1*2 -lly-6=0,

T/ OR

fen wd g W oy W A 4w Ky oW ol g A @ oy w T
160 ¥ I WM g W Wit

The sum of the ages of a man and his son is 45 years, Four years ago, the product
of their ages was 160. Find their present ages.

3 2,000 T W 3 ¥ ¥ frg 5% W W A WHOT w@ wwghg WW B FET S
wa i

Find the difference between compound interest and simple interest for T 2,000 at
the rate of 5% per annum interest for 3 years.

T /| OR

@ﬂ#’f%omﬁwm%ommmwﬁwmsmﬁﬁﬁmmw
w & T fea Qe @ W W T i

A watch is sold for T 960 cash or for X 480 cash down payment and tw? monthly
instalments of T 245 each. Find the rate of interest charged under the instalment

plan.

25 qamﬁgm%ﬂwhqa@ﬁ%mﬁﬁﬂﬁﬁmwsﬁm%t 5
ga & B &1 AW TEd

Construct the incircle of the equilateral triangle whose one side is 8 centimeter.

Measure its radius.
7 | OR

£ AA'BC'ﬂrmah%fqm&aﬁ AABC # gl § 7:5 & HTIW

¥ ¥\

e Si i io 7:5.
' en AABC whose sides are in the ratio
Construct a AA'BC

15 O | 0.

similar to a giv

§5223 |
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26 WW® (1 + cot O - cosec 6) (1 + tand + sec 6) H wI BT | .

Simplify the expression (1 + cot 8 - cosec 6) (1 + tan@ + sec 0)

T /| OR
1 gron ¥ wam ¥ g @l
sec 37° sin 42° .
+ =<
cosec 53°  cos 48°
Prove it, without using table :
sec 37° " sin 42°
cosec 53°  cos 48°
16
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